[image: image1.png]Clark lives alone in a Fortress of Solitude, where he produces and consumes shirts (X) and
newspapers (). Clark has a fotal of 200 hours of labor available per month: his monhly
‘production functions for shirts and newspapers are given by X = L'* and Y =Ly, where Ly
and Ly measure the quantity of labor devoted to shit and newspaper production, respectively
Clark’s wilify from consuming shirts and newspapers is given by U(K, Y) = X ¥

a) Write down an expression for Clarks production possibiltes frontier. Sketch it in 2
diagram — be nice and neat,since you will be adding some more details o tis diagram
tater!

) IF Clark (a brooding. sofitary guy) canaot trade with the sest ofthe world, how will he
cioose to allocate hisIabor, L and Ly? What will be his optianal consuanption of
consumption of X and Y? What level of uilry will he atain? What s the slope of
Clask’s PPF at this optimua? Ilusteate your answver by adding an additcnal curve to
your PP diagram.

) Now suppose Clark opens his eyes fo the porwer o trade, and learms that he can frade
‘newspapers and shits at the ratio of Py/Px = 1.2. If Clark continues o produce the same
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quanifies of X and Y that you calculated in part b), ther what will he choose to consume,
given the opportunity to trade? What will be his new level of utilty? Show your answer
on yous PPF diagram

Finally, how would your answer to past ¢) change if Clark adjusts bis production to takre
full agvantage of the world prices? Again, llusirate your answer: if yous diagran is
growing foo cluttered. you can draww a new one.





